
Calculus II

Multiple Points

Determinetheposition and natureof
double point on theCurve

x- y2 - 7x2 +4y +15x
- 13 =0

Sol f(x,y) =x- yi - Tx +4y
+15x - 13.
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342-14x +15 =0
-2y +4 =

0

342 - 9x -5x
+15=0 I?

3x(x - 3) - 5(x
-3)=0

(x - e) (3x
- 5) =0

x =3,513.



... Possible double points are

(3,2); (53,2)

x- y2 - T42 +4y +15x - 13 =
0

27 - 4 - 63 +8 +45 -13 =0

80 - 80 =0

0 =0

(3,2) satifies thegiven Curvef(x,y)



lily we can check for ($3,2)

(5/3,2) does not satisfy thecurve

... carve has only one double point
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DTO Point isnode.


